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1. ROMCEZK. (SHk1208, Afk25r, B35, Cik45730%)

(1) 33 200m T5 307 il miEden. (2) 300m % 45 % TIT L 2 HE XI5 m 2.

(3) 100km ZKRf# 12km TITL & (4)  150m %= 36 m TITL &
AT RE AR 50 D2 2 B 2. a] 53Rl kD B3> 2 7.
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2. ROMICEZ L. (SHk17208, Afk297, B35, Cik45730% )

(1) 3 300m T6040 7 efil miEETen. (2) 400m % 48 F TIT L & HE X 13703 m 2.

(3) 200km ZEF®E 75km TfT< & (4)  200m %= 96m TITL &
AT RERER] 50 D222 B 2. A aT kD B3> 2 7.
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2. ROMICEZ L. (SHk17208, Afk297, B35, Cik45730% )

(1) 3 300m T6040 7 efil miEETen. (2) 400m % 48 F TIT L & HE X 13703 m 2.
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